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Consider a 15-processor asynchronous network with processors 0,...,14. The proces-
sors constantly yun 2 synchronizer. Let v and v’ be two processors in the network,
and suppose that at a certain moment, the pulse counter at v shows p = 37. What is
the range of possible pulse numbers at,v’ in each of the following cases:

(a) The network is a ring {with the processors arranged aceording to their numbers),
» is processor number 11, +* is processor pumber 2 and the synchronizer used is

k.

{b) The network is a full balanced binary tree (4 levels), v is the root, v’ is one of
the leaves and the synchronizer used is 5.

(¢) The same as in {b), except both v and o' are leaves.
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